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Run 4609 triggerwise, sums: All

Entries: 2112030

Mean: 4386.4525 +/- 2.7800

Std Dev: 4040.1232 +/- 1.9658

Run 4609 triggerwise, sums: All
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Run 4609 triggerwise, sums: Beam OFF

Entries: 804

Mean: 1242.1443 +/- 23.4735

Std Dev: 665.5899 +/- 16.5983

Run 4609 triggerwise, sums: Beam OFF
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Run 4609 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 516928

Mean: 5337.7149 +/- 7.0946

Std Dev: 5100.8387 +/- 5.0166

Entries: 516665

Mean: 5340.1068 +/- 7.1029

Std Dev: 5105.5098 +/- 5.0225

Run 4609 triggerwise, sums: Beam ON, Laser ON
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Run 4609 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 511451

Mean: 3433.5842 +/- 2.9932

Std Dev: 2140.6040 +/- 2.1165

Entries: 511317

Mean: 3452.8014 +/- 3.0556

Std Dev: 2184.9182 +/- 2.1606

Run 4609 triggerwise, sums: Beam ON, Laser OFF
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